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| PART A: Vocabulary

Directions: Choose the word or the phrase (1), (2), (3), or (4) that best completes the blank. Then
mark the correct choice on your answer sheet.

I-  Animal welfare science is an emerging field that seeks to answer questions —-——-—emnee
by the Keeping and use of animals.

1) raised 2) resolved 3) settled 4) evolved

2-  The low soil fertility problem can be --------eeee--- by applying the appropriate lime and
organic fertilizers.
1) traced 2) preceded 3) mitigated 4) necessitated

3-  The chef furnished his assistant with very explicit instructions regarding the -——----eeeaeeeee
to be used for the new dish.
1) properties 2) aesthetics 3) ceremonies 4) ingredients

4-  The problem of power cut was so imporiant that we decided not to bother about the
other —-----ceeeeeeee issues that were not much of a concern at that time.
1) gradual 2) peripheral 3) tranquil 4) lucrative

5-  Everybody knows that Ted is a chronic procrastinator; he -——--- puts off doing his
assignments until the last minute.
1) spontancously 2) marginally 3) habitually 4) superficially

6- The world's governments have made a joint -----eeeceeeeee to significantly reduce
greenhouse gas emissions by the year 2030.
1) malady 2) determination 3) involvement 4) pledge

7-  Scientists do their best try (0 —==-memmeemeen themselves from their biases and be objective.
1) detach 2) delete 3) ignore 4) strengthen

8- The local busincssman accused the newspaper of defaming him by publishing an article

that said his company was -—--—--- managed.
1) seriously 2) centrally 3) poorly 4) crucially

9-  Landing a plane on an aircraft carrier requires a great deal of ---—----——-----_ as you can
crash if you miss the landing zone by even a little bit.
1) determination 2) precision 3) rationality 4) consultation

10- New growth of the body’s smallest vessels, for instance, enables cancers to enlarge and
spread and contributes to the blindness that can ----------—--—- diabetes.

1) cause 2) halt 3) identify 4) accompany
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PART B: Cloze Passage

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each
space. Then mark the correct choice on your answer sheet.

Estimates of the number of humans that Earth can sustain have ranged in recent
decades from fewer than a billion to more than a trillion. (11) ——==——eem—— -, since
“carrying capacity” is essentially a subjective term. It makes little sense to talk about
carrying capacity in relationship to humans, (12) -—----—-—--—— and altering both their
culture and their physical environment, (13) ====mmmmemmm- -- can thus defy any formula
(14) --——===-==——— the matter. The number of people that Earth can support depends on
(15) -========-=--—, on what we want to consume, and on what we regard as a crowd.

11- 1) Itis probably unavoidable that such elasticity
2) Such elasticity is probably unavoidable
3) It is such elasticity probably unavoidable
4) That it is probably unavoidable for such elasticity

12- 1) that adapt their capability 2) whose capability is adapted
3) who are capable of adaptation 4) who are capable of adapting
13- 1) therefore 2) because 3) and 4) next
14- 1) might settle 2) might be settling
3) that might settle 4) which it might settle
15- 1) how we on Earth want to live 2) Earth where we want to live
3) where we want to live in on Earth 4) where do we want to live on Earth

| PART C: Reading Comprehension:

Directions: Read the following three passages and answer the questions by choosing the best

choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE 1:

Physical oceanographers study water movement — from tides to internal waves to
ocean eddies — as well as the physical characteristics of ocean water itself. Some
research tools they use include optical instruments to measure water properties in situ
as well as remotely, for example via satellites. Other observational approaches used by
oceanographers . include instrumented moorings, Lagrangian drifters. and high
frequency radars for mapping ocean currents. Oceanography is a highly
interdisciplinary field, with frequent collaboration among physical oceanographers.
marine ecologists, biological oceanographers. chemists and geologists. Much of the
research in oceanography includes modeling larval dispersal via Lagrangian methods,
tracing the movement and distribution of biogeochemical properties, and remote
sensing of ocean color to study chlorophyll patterns. circulation processes, and coastal
kelp distributions. Expertise in universities where oceanography is taught includes air-
sea interaction, meteorology. climate modeling, mesoscale dynamics, turbulence and
mixing, and coastal circulation. Opportunities exist to study such phenomena all over
the world. from the Santa Barbara Channel to the middle of ocean basins.
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16-

17-

18-

19-

20-

21-

The main purpose of the passage is 10 ———-veemeeueue .

1) introduce the physical characteristics of ocean water

2) introduce the field of oceanography in technical terms

3) make readers familiar with types of water movement

4) make readers aware of what can be achieved via satellites

The phrase “in situ” in line 3 means -------eseeaeeev ,
1) from a far distance 2) in sequence
3) in the original place 4) with great precision
The passage mentions all of the following observational approaches used by oceanographers

EXCEPT -eeemmememene .
1) autonomous underwater vehicles 2) instrumented moorings

3) high frequency radars 4) Lagrangian drifters

According to the passage, oceanography is an interdisciplinary field involving
collaboration with experts in fields such as ——-—--eeeeeeeee,

1) marine ecology, chemistry and geology

2) marine ecology. microbiology and geology

3) physics, microbiology and meteorology

4) physics, chemistry and meteorology

According to the passage, remote sensing of ocean color is conducted to study all of the
following EXCEPT -----

1) chlorophyll patterns 2) cireulation processes
3) coastal kelp distributions 4) mesoscale dynamics
PASSAGE 2:

Because the Earth’s surface is unevenly heated by the Sun, the thermodynamic state of
sea basins is usually instantancous and variable in time. just like the state of the
atmosphere. The thermodynamic equilibrium of water elements with their
surroundings is very unlikely to be lasting. so it is instantaneous and no less random
than transitional states of imbalanece. Typical of these transition states are temperature,
salinity. and density gradients (different from zero) which cause energy and mass to
flow in such a direction as to restore equilibrium. The chief means by which this is
achieved were discussed previously, notably, quasi-stationary fluid flows (sea
currents) giving rise to the advection of energy and mass, turbulent exchange, and
electromagnetic radiation. In the mass of water, energy is also transported by
mechanical waves, i.e.. surface, internal and acoustic waves. The dominant role of
some means of transferring mass and energy and the marginal role of others depends
on the currently available sources of energy. on the temporal-spatial scale of the
process in question and on the environmental conditions obtaining.

Why is the thermodynamic state of sea basins usually instantaneous?
1) It is different from the state of the atmosphere.

2) The environmental conditions obtained are irregular.

3) The temporal-spatial elements play an important role.

4) The Earth’s surface is unequally heated by the Sun.
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22-

23-

24-

25-

26-

27-

28-

The word *“it” in line 4 refers to ——-——eeeeeeeees %

1) state 2) imbalance

3) atmosphere 4) thermodynamic equilibrium

Which of the following transition states has NOT been mentioned in the passage?

1) Temperature 2) Salinity 3) Pressure 4) Density gradients
The word “advection™ in line 9 is closest in meaning to ——--—--—-emvuee- \

1) increase 2) quality 3) transfer 4) volume

The passage mentions all of the following factors responsible for restoration of
equilibrium EXCEPT -----

1) electromagnetic radiation 2) molecular exchange
3) quasi-stationary fluid flows 4) turbulent exchange
PASSAGE 3:

Jacques-Yves Cousteau was a French oceanographer. researcher, f{ilmmaker. and
undersea explorer. He was born on June 11, 1910 in Saint-André-de-Cubzac. Gironde,
France. He attended a boarding school in Alsace. France and then completed his
preparatory studies at the College Stanislas in Paris. In 1930 he entered the French
Navy and graduated as a gunnery officer. After graduation, he joined the French
Navy's information service. He had a keen interest in photography, and this gave him
an opportunity to shoot film at exotic ports-o-call in the Indian and Pacific Oceans. In
1933 Cousteau nearly lost his life in a serious automobile accident. During his
rehabilitation. he began swimming in the Meditertanean Sea to strengthen his weak
limbs. A friend gave him a pair of swimiming goggles, which opened his eyes to the
wonders of the sea.

During World War Il. Cousteau and his family moved to the small town of
Megeve, near the Swiss border. Over the next few years he began his experiments in
underwater research. He met a neighbor named Marcel Ichac. who shared his passion
for exploration. In 1943 they won the ex-aequo prize of the Congress of Documentary
Film for the first French underwater film, Par dix-huit métres de fond (18 meters
deep). Later that year, Cousteau miet a French engineer named Emile Gagnan. The two
men experimented with compressed air cylinders and developed the first Aqua-Lung
device which allowed divers to stay underwater for long periods of time.

What is the first paragraph mainly about?
1) Cousteau’s main achicvements

2) Cousteau’s life as a young man

3) Cousteau’s interest in photography

4) Cousteau’s skills as an oceanographer

The passage provides sufficient information to answer all of the following questions
about Cousteau EXCEPT —-eeeeeeeeee- !

1) how many films he made 2) where and when he was born

3) when he survived an accident 4) what he did during World War 11
Where did Cousteau complete his preparatory studies?

1) In the French Navy 2) In Saint-André-de-Cubzac

3) A boarding school in Alsace 4) At the College Stanislas in Paris
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29-  The word *“they” in paragraph 2 refers (o —--—-eeceeeeee .
1) his experiments 2) the next few years
3) Cousteau and his friends 4) Cousteau and Marcel Ichac

30- What did Cousteau and Emile Gagnan do?
1) They made the first Aqua-Lung device.
2) They began to explore the Mediterranean Sea.
3) They made the first pair of swimming goggles.
4) They produced the first French underwater film.
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